DU BSc Physical Education N Sports Sciences

Topic:- PE BDC 52
1) Elevation helps reduce injury by

AR orfls @ 233 @) 3arar A dle @ oA ol i see e 2

[Question ID = 8244]

1. Helping to support the weight of the limb/ s @ e o1 wwelsr wwor 3 \eg ween [Option ID = 32970]

2. Allowing white blood cells to be released to fight infection/zimmmr 3 asor @ fém «%1 >0 widroi o sisar [Option 1D = 32971]
3. Reducing blood flow to the area/&xy # 75 @ yag @1 @a @ean [Option ID = 32972]

4, Increasing blood flow to the area/sky & v a1 ymz asren [Option 1D = 32973]

Correct Answer :-
® Reducing blood flow to the area/gny & »o o yme ait s wzan [Option 1D = 32972]

2) An ankle sprain is an example of which type of injury

cxral 1 A fpa gz &1 ale a5 vas 3301 &

[Question ID = 8245]

1. Skin/raar [Option ID = 32974]

2. Soft tissue/ama 3w [Option 1D = 32975]

3. Hard tissue/wia ow [Option 1D = 32976]

4, Epithelial tissue /3uwmwen s [Option 1D = 32977]

Correct Answer :-

e Soft tissue/ams awras [Option 1D = 32975]

3) Which one among the following elements/ions is essential in small quantities for development of healthy teeth but causes
mottling of the teeth if consumed in higher quantities?

Faz e cidl @ Ao @ oo Breifcifan 3 31 el 211 ara / 3iRIol @ AN 3 3a9s 3, cifdvor 3ufires gy I Adel B2ol Uz cidl 3 el adl
14

[Question ID = 8246]

1. lron/3mmEsr

[Option ID = 32978]
2. Chloride/aeaEs

[Option ID = 32979]
3. Fluoride/wines

[Option ID = 32980]
4, Potassium/drefdem

[Option ID = 32981]

Correct Answer ;-
e Fluoride/wimss

[Option ID = 32980]

4) The vitamin necessary for coagulation of blood is

I @ Sama o e smages Aefier 2

[Question ID = 8247]

1. Vitamin B/Reitiar dt [Option 1D = 32982]

2. Vitamin C/faerfdra 2t [Option 1D = 32983]

3. Vitamin K/feifier o3 [Option 1D = 32984]

4. Vitamin E. /fefdm € [Option ID = 32985]

Correct Answer :-
e \itamin K/f@eifda @ [Option ID = 32984]

5) Besides carbohydrates, a major source of energy in our food is constituted by

DrElesic @ e, AR Histol i Huil ©1 v gz FHia 3
[Question ID = 8248]
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Proteins/qidter [Option ID = 32986]
Fats/azn [Option ID = 32987
Minerals/wfam [Option 1D = 32988]
Vitamins /el [Option ID = 32989]

P s

Correct Answer :-
e Fats/@n [Option ID = 32987]

6) Which of the following is a water-soluble vitamin and hence is required to be taken every day?

foraaferian 3 31 wiar 21 urelt # gerereftar forerfier 2 Jiiz safem 331 & Ra Ao anavawm &7
[Question ID = 8249]

1. Vitamin D/feifdr € [Option ID = 32990]

2. Vitamin C/feifier 21t [Option 1D = 32991]

3. Vitamin K/feifde o [Option ID = 32992]

4. Vitamin A/fetfirr w [Option 1D = 32993]

Correct Answer :-
e Vitamin C/Retfie 3f [Option 1D = 32991]

7) Which of the following has the highest calorific value?

forgaiferf3an af A b1 JTamw Dol #er &7
[Question ID = 8250]

1. Carbohydrates/widtars3e [Option ID = 32994]
2. Fats/azn [Option ID = 32995]

3. Proteins/qiéta [Option ID = 32996]

4. Vitamins/feifia [Option ID = 32997]

Correct Answer :-
o Fats/aar [Option ID = 32995]

8) The amount of Blood comes out from ventricle, per minute is called?

dfitwa 31 75 &l Ay foaell oot 2, yfer Bere war sar 87

[Question ID = 8251]

Cardiac cycle/gza aaz [Option ID = 32998]

Cardiac output/mii¥eras aseye [Option ID = 32999]
Cardiac volume/anf3ees dicegar [Option 1D = 33000]
Ventricle volume/aféaser &t s [Option ID = 33001]

bt ) =

Correct Answer :-
e (Cardiac output/aif@ee aeye [Option ID = 32999]

9) The cause of postural defects / deformities is?

orflz RFrefer-dra / fepfer @1 wror 37

[Question ID = 8252]
1. Balanced diet/wfert e

[Option ID = 33002]
2. Malnutrition/ezreer

[Option ID = 33003]
3. Extra diet/afif¥r amn

[Option ID = 33004]
4. Sickness/dhmd

[Option ID = 33005]
Correct Answer :-
® Malnutrition /o
[Option ID = 33003]

10) During muscular contraction, if there is no change in the size of muscle, this contraction is

AT & Fiddel © ciet, e AFARI & aner 3 ®F ulfada adl 2ian &, @ w1 Fmas a1 I &
[Question ID = 8253]

1. lsometric/anssaicas [Option 1D = 33006]

2. Isotonic/aEs@fes [Option ID = 33007]

3. lsokinetic/yEafEaldas [Option 1D = 33008]

4. Kinetic/®rsafee [Option ID = 33009]
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Correct Answer ;-
e |sometric/asddieas [Option 1D = 33006]

11) The PNF method of developing flexibility was developed by

ercliciust @1 Rrosfia ool a1 diverow aflot [Bvaa grn Rosfha e sren en

[Question ID = 8254]

1. Kennith Cooper/@farer aaz [Option ID = 33010]

2. Edward L. Fox/usad wer wiaar [Option ID = 33011]
3. Frank W. Dick/w @ws=ee, 5a5 [Option 1D = 33012]
4. H. Kabat/wa wme [Option ID = 33013]

Correct Answer ;-
e H. Kabat/wa mme [Option ID = 33013]

12) The ability to realize the position of the body or it's part in space and time is called

ordlz &bt Rrerfer @ siafer iz AR # s 3321 ©1 AGPA Dol DI &I D WBI Il 3

[Question ID = 8255]

Balance Ability/ e gwen [Option |D = 33014]

Differentiation Ability/aigsma @51 swren [Option 1D = 33015]

Jumping ability in space/ siat¥st # @wool &t swrm [Option 1D = 33016]
Orientation Ability/ sffifeens smen [Option 1D = 33017]

kst P —

Correct Answer :-
e Orientation Ability/ sififowemer emem [Option ID = 33017]

13) What is manufactured from the iron that we obtain from our diet?

A MBI A YIA ol aral ot A a=n forfdfa aiem &7
[Question ID = 8256]

1. Blood cells/¥er afgresiall [Option ID = 33018]

2. Hemoglobin/&Rwenfdsr [Option ID = 33019]

3. Bone Marrow/ aif3er atsen [Option 1D = 33020]

4. Protoplasm/qgiéemsar [Option ID = 33021]

Correct Answer :-
® Hemoglobin/#feelfEs [Option ID = 33019]

14) In Female Athletes Triad Osteoporosis, the mass of bone is reduced and is caused by low levels of

sAfgen verclie grrs siifcnuRiRm 3, s58t o gomer ©a gian 2 aiiz et Tz @ oRuT g 2

[Question ID = 8257]

Estrogen/uvsdisma [Option 1D = 33022)
Calcium/dfevrm [Option ID = 33023]
Vitamin-D/ Ferfde-2t [Option 1D = 33024)
Minerals/mférs [Option ID = 33025]

B T I

Correct Answer :-
e Estrogen/vsca@a [Option ID = 33022]

15) Which of the following statements is true about menstruation?

a3 epl @ an J foeticil¥aa 3 31 ®la A1 ©Uel F6 87

[Question ID = 8258]
1. Ina normal 28 day menstrual cycle you would expect menstruation to last approximately 1 3-15 days. /vw snenee 28 (a1 o anfdnp ool & amg anfdres oel o1

F#atte eemer 1 3 3-15 [&al oo a3at [Option 1D = 33026]
2. During menstruation the entire endometrium is shed. /snf3rs o & St g3 vethfees ot agrn sien & [Option 1D = 33027]
During menstruation only the functional layer of the endometrium is shed, with the basal layer remaining intact. /mies ol o Staa ceWidem &l diaea

eRIfeaten U3 o) aalen ofien &, Bl e usa 9w ssdt & [Option 1D = 33028]

4. Absence of menstruation always indicates an active pregnancy /i el &t spuiFei sion v Ffe smifazen © 3B oxdt [Option 1D = 33029]

Correct Answer :-
® During menstruation only the functional layer of the endometrium is shed, with the basal layer remaining intact. /mBws tpi @ giae vSEleem ot dae

ORI U3 © aar o 8, Bewl dure ur 9m sadt & [Option ID = 33028]

16) How many byes will be given in upper half and lower half if the number of teams participating in a competition is 97

afe fpeft giernBran # smer a6t archt & &t Jizeen 9 &, @ Hudt nd i Bac nd BaA 3 Roaar ardar R smes?

[Question ID = 8259]
1. Upper half three and lower half four/ st anen i afiz fGreen amen @ [Option 1D = 33030]

2. Upper half four and lower half three/sudt amen anz 3tz foraen amen o [Option 1D = 33031]
3. Upper half five and lower half two/3udl anen ufa stz foreen anen &Y [Option 1D = 33032]
4. Upper half two and lower half five/sw# anen &t aftz foreren amen of [Option ID = 33033]
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Correct Answer :-
o Upper half three and lower half four/swd amen disr afte frren amen @ [Option 1D = 33030]

17) How many numbers of matches will be played in first round of single elimination tournament with 11 teams?

11 @31l @ 181 vabal Jodictol Colldic @ Uscl Gi2 3 [bdol Jia Eel smusl
[Question ID = 8260]

1. 2 [Option ID = 33034]

2. 3 [Option ID = 33035]

3. 4 [Option ID = 33036]

4, 5 [Option ID = 33037]

Correct Answer :-
e 3 [Option ID = 33035]

18) The amount of force a muscle can exert is known as

us Aizraoht ot fbden ac e s3gar 8, 331 o= @ar o &7

[Question ID = 8261]

1. Muscular Endurance/siamtgrit a ditzar [Option 1D = 33038]
2. Muscular Strength/sinigen & segedt [Option 1D = 33039]
3. Flexibility/erdlemaa [Option 1D = 33040]

4. Body composition/gndif¥es szaan [Option ID = 33041]

Correct Answer :-
® Muscular Endurance /sisifdril @1 dizsr [Option 1D = 33038]

19) Running, Swimming, and Biking are what kind of activity?

Sisol, don 32 Ao acren A s & aifafafer 3?7

[Question ID = 8262]

1. Anaerobic/vanafdas [Option ID = 33042]
2. Dynamic/arféisiter [Option ID = 33043]

3. Aerobic/vafdas [Option ID = 33044]

4. Static/z2féw [Option ID = 33045]

Correct Answer :-
e Aerobic/vdfass [Option ID = 33044]

20) What is one benefit gained from physical activity will benefit your cardiovascular system?

omdif¥es sifaifaf?r A g ves ey smadd & gonedl @) @ s gen?

[Question ID = 8263]

Reduce Stress/amma a1 avd [Option ID = 33046]

Manage Stress/iema a1 yaust @ [Option ID = 33047

Increase Resting heart rate/amam f&a &1 g2 gend [Option 1D = 33048]

Allows heart to pump blood more efficiently/eca @t aifdres qorern 31 25 du a2a &t sl Son & [Option 1D = 33049]

b P =

Correct Answer :-
e Allows heart to pump blood more efficiently/ e ot aftrs qorern 3 2p du avza &t st Son & [Option ID = 33049]

21) What is the number of Games of The Olympiad - Tokyo 2020

afleiftrens @ Wel & den foaeit & - dra=n 2020

[Question ID = 8264]
XXXII [Option ID = 33050]
XXXI [Option ID = 33051]
. XXX [Option ID = 33052]
XXIX [Option ID = 33053]

Lt B =

Correct Answer :-
& XXXl [Option 1D = 33050]

22) The Butterfly Stroke is related with which game?

fereredt ader asiorer st wa A Hafia &7
[Question ID = 8265]

1. Kho-Kho/=-=0 [Option ID = 33054]

2. Kabaddi/masdt [Option ID = 33055]

3. Swimming /bt [Option ID = 33056]

4, Cycling/=mfremr [Option ID = 33057]

Correct Answer :-
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® Swimming/dabl [Option ID = 33056]

23) The Somatotype in physical education is used for

orrdiifyes forgn 31 ANIEIersU @1 3u=Ner a=l e e 2

[Question ID = 8266]

1. Lean body type./gaen sidtz @ o [Option 1D = 33058]

2. Fatty body type./d¢1 etz 1 yastz [Option ID = 33059]

3. Study of body type./srits @ gerz an aeerisn [Option 1D = 33060]

4, Study of school students. /st o s a1 areererar [Option 1D = 33061]

Correct Answer :-
e Study of body type./orfiz & gasrs as aigerers [Option 1D = 33060]

24) The women Gymnastics was included in Olympics game in which year?

sfgen BraenfRes o siciites @Al 3 Boa ad onfira s s en?
[Question ID = 8267]

1. 1928 [Option ID = 33062]

2. 1924 [Option ID = 33063]

3. 1920 [Option ID = 33064]

4, 1912 [Option ID = 33065]

Correct Answer :-
e 1928 [Option ID = 33062]

25) Which type of fitness in senior citizens is measured by Eight foot up and go test?

afyes omeifyal # Rpa yor & fseas @1 ame ©e Hu? 3ii g gren amn s 87

[Question ID = 8268]

1. Strength/gfes [Option 1D = 33066]

2. Lower body strength/ otz @ sl aier o6t s [Option ID = 33067]
3. Agility/auewen [Option ID = 33068]

4. Lower body endurance/ sz o siiel aier @ efizar [Option ID = 33069]

Correct Answer ;-
o Agility/aueren [Option ID = 33068]

26) To recede, rule of direction used in which sports.

gz oent @ foe, Roa ®a A rra Ron wi sueier Rean siren 3
[Question ID = 8269]

Kho-Kho/=i-=i [Option ID = 33070]

Fencing/ars eman [Option D = 33071]

Badminton/dsfesr [Option 1D = 33072]

. Golf/sitew [Option ID = 33073]

B T

Correct Answer ;-
o Kho-Kho/zit-=it [Option ID = 33070]

27) Lack of Vitamin B 12 results in

fareifder @ 12 & wait 31 afvoma sren 8

[Question ID = 8270]

1. Scurvy/z@sdt [Option (D = 33074]

2. Beri-beri/adt-adt [Option ID = 33075]

3. Pernicious Anemia/ swiifien weitiien [Option ID = 33076]
4, Angular Stomatitis/wmiviier 283@esiear [Option ID = 33077]

Correct Answer ;-
® Pernicious Anemia/ swmitfden weitféen [Option ID = 33076]

28) The Harvard Step test is to measure

aIds 72U e3¢ @ Aua @ oo 2

[Question ID = 8271]

1. Speed/sifer [Option 1D = 33078]

2. Flexibility/e=ltemum [Option 1D = 33079]

3. Coordinative ability /e eprn [Option 1D = 33080]

4. Cardio vascular endurance/gca @t szt [Option ID = 33081]

Correct Answer :-
e Cardio vascular endurance/#s= @t magedt [Option 1D = 33081]

India’s largest Student Review Platform



29) The bent knee sit up test is measured within a time of

#S TU Heol -do1 D udtgm @ fore Jarr
[Question ID = 8272]

1. 30 sec./30 3= [Option ID = 33082]

2. 60 sec./60 Fes= [Option ID = 33083]
3. 90 sec./90 3wws [Option ID = 33084]
4. 120 sec./120 Fwp=s [Option ID = 33085]

Correct Answer :-
e 60 sec./60 Jws [Option ID = 33083]

30) Ardh- Matsendrasana is helpful in the treatment of

G- ACRAoGRIEl O IUAR A AGRKD &
[Question ID = 8273]

1. Hypertension/aca sesam [Option 1D = 33086]
2. Asthma/azemn [Option ID = 33087]

3. Back pain/dis &< [Option ID = 33088]

4. Bulimia/ejferfien [Option ID = 33089]

Correct Answer :-
o Back pain/dis ad [Option I1D = 33088]

31) The Carbohydrate normally constitute the healthy diet in percentage of food is

DElaESe sl @ gicren i AT U I Fael AERE &
[Question ID = 8274]

1. 50 % [Option ID = 33090]

2. 60-65 % [Option ID = 33091]

3. 60 % [Option ID = 33092]

4. 70-75 % [Option ID = 33093]

Correct Answer :-
e 60-65 % [Option ID = 33091]

32) The 2024 Olympics games will be held at

2024 =1 Mciftas @ fear Feme uz e fen smosn?

[Question ID = 8275]

Ankara/zira [Option 1D = 33094]

Los Angles/«ffa g3 [Option ID = 33095]
. Parish/ot¥a [Option ID = 33096]
Tokyo/2xeel [Option 1D = 33097]

da b R =

Correct Answer :-
® |os Angles/eliw eaiea [Option ID = 33095]

33) The distance of “ D” or shooting circle from goal in hockey is

il 3 argar A "I A gifeer wawa B ch B
[Question ID = 8276]

1. 14.53 m/14.53 3t [Option ID = 33098]

2. 14.63 m/14.63 aft [Option ID = 33099]

3. 15.53 m/15.53 4ft [Option ID = 33100]

4. 15.63 m/15.63 # [Option ID = 33101]

Correct Answer :-
® 14.63 m/14.63 4t [Option ID = 33099]

34) The VO2 max is related to

VO2 diazit @1 d«er feaa 8

[Question ID = 8277]

1. Anaerobic capacity/smmrdi s [Option 1D = 33102]

2. Aerobic capacity/eafa@w gwem [Option ID = 33103]

3. Muscles explosive capacity/ szt faswica geon [Option 1D = 33104]
4. Nervous capacity/uaaqer &t giern [Option ID = 33105]

Correct Answer :-
e Aerobic capacity/vdfdw gmen [Option ID = 33103]

35) What is circumference of the football
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wedier &1 affdr aun 2

[Question ID = 8278]

1. 66-70cm/66-70 A4t [Option ID = 33106]
2. 68-70cm/68-70 Aaft [Option ID = 33107]
3. 70-72cm/70-72 Asft [Option ID = 33108]
4, 70-74cm/70-74 3aft [Option ID = 33109]

Correct Answer :-
e 68-70cm/68-70 st [Option ID = 33107]

36) What is the height and width of goal post of Handball

Badicl &1 slter dlze &t Hart 3iiz disrg ool 3
[Question ID = 8279]

1. 3m X 3m/3X3 #it [Option ID = 33110]

2. 2m X 3m/2X3 #t [Option ID = 33111]

3. 2.5m X 3m/2.5X3 #t [Option ID = 33112]

4, 3m X 4m/3X4 7t [Option ID = 33113]

Correct Answer :-
o 2m X 3Im/2X3 # [Option ID = 33111]

37) What is the minimum distance of free zone around the volleyball court

diefldict @I¢ @ anl 3 g 8iq & cfl a=n &
[Question ID = 8280]

1. 3 m/3 4t [Option ID = 33114]

2. 3.5m/3.5 i [Option ID = 33115]

3. 2.5m/2.5 4t [Option ID = 33116]

4. 2 m/2 # [Option ID = 33117

Correct Answer :-
e 3 m/3 3 [Option ID = 33114]

38) Who is the Interim President / Chairmen of International Cricket Council.

Jiriecta fpade ulfvae @ siafya areagr wia &
[Question ID = 8281]

1. Manohar Shashank /#eilez gomes [Option 1D = 33118]
2. Anurag Thakur/amper sz [Option ID = 33119]

3. Justin Langer/aif3ear dierz [Option ID = 33120]

4. |Imran Khawaja/ssmm wmsn [Option ID = 33121]

Correct Answer :-
e Manohar Shashank /#@itez eienis [Option ID = 33118]

39) The Khelo India Youth Games (KIYG), held annually in two age categories are-

Rrcit 3 e e, yferadt o ARy @eif 3 aRAfET Bt st §
[Question ID = 8282]

1. Under-16 and under-20 years./aisz -16 afiz aisz -20 s [Option ID = 33122]
2. Under-17 and under-20 years. /=7 -17 afiz 3iz3 -20 wer [Option 1D = 33123]
3. Under-17 and under-21 years. /as37 -17 itz aizz -21 ad [Option ID = 33124]
4. Under-16 and under-19 years./as7 -16 ity ais7 -19 ama [Option 1D = 33125]

Correct Answer :-
® Under-17 and under-21 years. /ais7 -17 a7 aisz -21 ad [Option ID = 33124]

40) The Hospitality committee in sports competition is for

el gfernfaran 3 snfereer aafaifer v fero 3

[Question ID = 8283]

1. Receive the guests/¥zamsil &1 gra a2 [Option 1D = 33126]

2. Arrange for accommodation and food/amrenat 3tz #iisral &1 cerazen @ [Option ID = 33127]
3. Arrange for play field facilities/ = fiers &1 gfdenail &1 sgazen a3 [Option 1D = 33128]
4. Taking the guests for touring/Jizamsil @1 s @ e 1 smen [Option ID = 33129]

Correct Answer :-
® Arrange for accommodation and food/ amem=t affs itera o5t searen @ [Option 1D = 33127]

41) How many byes will be given if 19 teams are participating in a tournament

fe ves gottdic 3 19 &3l wer o 28 & Al ool arda Ru smday
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[Question ID = 8284]
1. 9 [Option ID = 33130]

2. 11 [Option ID = 33131]
3. 13 [Option ID = 33132]
4, 15 [Option ID = 33133]

Correct Answer :-
e 13 [Option ID = 33132]

42)
facilitate action

is usually interpreted as a process to develop a strategy to achieve desired objectives to solve problem and to

@l AT UZ AR D1 &l Dol 312 PRars ol Hfdensiern deiiel @ fere aiffva 3ol @1 yia ol @ e uw wisilfa faolia wa @

fere ves gfteen & wu 3 ceneen & Sl @

[Question ID = 8285]

1. Intramural/screere [Option 1D = 33134]

2. Extramular/weaageegrz [Option 1D = 33135]
3. Tournament/gaitie [Option ID = 33136]

4. Planning/=isen [Option ID = 33137]

Correct Answer :-
® Planning/=isen [Option ID = 33137]

43) The deficiency of vitamin C may cause

farerfarer 3t &1 @wall 81 wodl 2

[Question ID = 8286]

Loss of leucocytes/emiensea w1 srvemet [Option ID = 33138]
. Grey hair/3] arer [Option 1D = 33139]

Scurvy/sadt [Option 1D = 33140]

Impaired growth/f@ers1 gan festar [Option 1D = 33141)

bt ) =

Correct Answer :-
e Scurvy/zmdl [Option 1D = 33140]

44) A cut through the skin that is made during surgery is called

Hst o Siarer glot archl caan @ Jmew A U d5¢ @l SR 8
[Question ID = 8287]

1. Laceration/us gsmen [Option 1D = 33142]

2. Abrasion/zdur [Option ID = 33143]

3. Bruise/auia [Option ID = 33144]

4. Incision/dtar [Option ID = 33145]

Correct Answer :-
® |ncision/dtar [Option ID = 33145]

45) Which of the following is not a essential amino acid

forsiferf3ae 31 31 wior |1 v maerd aflen vidts ol 2
[Question ID = 8288]

1. Histidine/f&sedtar [Option ID = 33146]

2. Leucine/w=zl= [Option 1D = 33147]

3. Valine/aférar [Option ID = 33148]

4, Tyrosine/esAfder [Option 1D = 33149]

Correct Answer :-
e Tyrosine/esAfdm [Option ID = 33149]

46) Which of the following vitamin helps in iron absorption

forgarfeiBaa 3 A wia a1 Bafier a2 o saonyor & sce sy 8

[Question ID = 8289]

1. B12/t 12 [Option ID = 33150]
2. B6/dt -6 [Option ID = 33151]
3. C/3# [Option ID = 33152]

4. A/u [Option ID = 33153]

Correct Answer :-
e C/3 [Option ID = 33152

47) If you wish to measure your grandfathers lower body flexibility which test would you suggest
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afe 3y srael erer @ 9 @ erclidael @t Huol arsd &, ) g wisl W1 udigror JMeSY
[Question ID = 8290]

1. Chair stand test/drr 38 23e [Option 1D = 33154]

2. Chair sit and reach test/<re fhe ity uga 2se [Option 1D = 33155]

3. Bade stretch test/d= z2a 2+ [Option ID = 33156]

4, Arm curl test/amt ot 22 [Option 1D = 33157]

Correct Answer ;-
e (Chair sit and reach test/@rr 2 3z uga 2¥e [Option ID = 33155]

48) According to Rikli and Jones, which test is recommended for aerobic endurance.

f¥bt aifiz silea1 @ eAR wiel AT ulgn wfd efizar @ foe udtgmn fpen smar &
[Question ID = 8291]

1. 1 mile test/1 3fter udleror [Option ID = 33158]

2. 9 minute run/walk/9 e 1 / ar [Option 1D = 33159]

3. Six minute walk/me feie @t doe gt [Option 1D = 33160]

4. 600 mts run/ walk/600 siez Sts /e [Option 1D = 33161]

Correct Answer :-
e Six minute walk/mg fme &t o gft [Option 1D = 33160]

49) The volume of air remaining in the lungs at the end of expiration is called

G WHITH @ 3icT A Bwsi # 99 Far bt A DI Wal ST &
[Question ID = 8292]

1. Total lung capacity/qger wwst &1 gren [Option ID = 33162]

2. Residual Volume/ ammfsme sy [Option ID = 33163]

3. Vital capacity/sgragof ewren [Option ID = 33164]

4. Minute Ventilation/fime df2cem [Option ID = 33165]

Correct Answer :-
e Residual Volume/ smfdre sorp [Option ID = 33163]

50) Which fractures are commonly seen in children because their bones are very soft and delicate.

AT WA AN U a<dl # S¥T oielr & aRiifs Jowehl sf3sen aga ora iz asps adt &
[Question ID = 8293]

1. Impacted/gsnfea [Option ID = 33166]

2. Green stick/&8 =1 [Option 1D = 33167

3. Simple/se [Option 1D = 33168]

4. Depressed/3cm [Option ID = 33169]

Correct Answer :-
® Green stick/z3 =t [Option 1D = 33167]

51) The force resisting the motion when a body (such as a ball, tire etc.) rolls on a surface is called

sl @1F iz (Sid sig, orr anfe) fpait I Uz e & al sifa o1 RRier w01 aren aa e &

[Question ID = 8294]

Sliding Friction/faerat aren gefor [Option 1D = 33170]
Rolling Friction/3ifeis adur [Option 1D = 33171]
Static Friction/=8ifes aefor [Option 1D = 33172]
Kinetic Friction/@ssaféas aedor [Option ID = 33173]

T

Correct Answer :-
® Rolling Friction/3f@er axdor [Option 1D = 33171]

52) A skater gliding on a smooth surface of ice has a tendency of continue gliding on a straight line with a constant speed is
an example of

aw &l Rrasell e Uz senss wiol arell vas ¥ades A uas fordeas oiftr @ wrer Alelt Yan uv sensf3s1 smdl yaer & gaf giedl 8

[Question ID = 8295]

Law of inertia/ssa @1 Brmn [Option 1D = 33174]

Law of acceleration/mmem @1 ferm [Option ID = 33175]
Law of reaction/gfifz=n @1 formr [Option 1D = 33176]
Friction/adur [Option 1D = 33177]

B

Correct Answer :-
e Law of inertia/ssim an farems [Option |D = 33174]

53) Individual with this type of personality are not competitive in nature . they are easy going and patient

collegedunia:

India’s largest Student Review Platform




¥ yoRr @ cftvea ara cafts rasra 3 gferuel off 81 & a sozreil 21 sn 3@ § aiiz et &

[Question ID = 8296]

1. Type A/eru u [Option ID = 33178]
2. Type B/eru &t [Option ID = 33179]
3. Type C/emu C [Option ID = 33180]
4, Type D/ewu D [Option ID = 33181]

Correct Answer :-
e Type B/emu dt [Option ID = 33179]

54) Pushing against the wall is an example of which type of exercise

Slar @ Raans e o b YR @ RRNHA O OB 36T &

[Question ID = 8297]
1. a) Isotonic/ s

[Option ID = 33182]
2. b) lsometric /s

[Option ID = 33183]
3. c) Isokinatic/msrEElR

[Option ID = 33184]
4. d) Combination of a and b/® afis dt a5 sieiso

[Option ID = 33185]

Correct Answer :-
e D) |sometric/zmiiw=

[Option ID = 33183]

55) It’s the ability to maintain maximum speed for maximum time or distance

Aag siftraa Aaa an ¢fl @ oo aiftrsas s1fdr gonu Yol &1 giwan

[Question ID = 8298]

Reaction ability/Puoaom @6t spren [Option 1D = 33186]
Acceleration ability/7zsm &5t epmrn [Option 1D = 33187]
Locomotor ability/eiimisites ot g [Option ID = 33188]
Movement speed/fwm ot siftr [Option ID = 33189]

L

Correct Answer ;-
e Locomotor ability/emisiies &t gwren [Option 1D = 33188]

56) The ability to combine the movement of different bodyparts for performing perfect sport movement is known as

gaBae FUIE Fadic ool & e fAfieor distargd @ viaea o) Brarer & grean @) wer sian &
[Question ID = 8299]

1. Coupling ability/zpser smren [Option 1D = 33190]

2. Differentiation ability/fEmicer swn [Option ID = 33191]

3. Orientation ability/afifEe=ns eprn [Option 1D = 33192]

4, Adaptation ability/ smjrerar swwn [Option ID = 33193]

Correct Answer ;-
e (Coupling ability/z@amr smer [Option ID = 33190]

57) Every yoga teacher must start the yoga session with

Yrken =0¥eT f31gran ot =ie1 Fq bt 9B AuNT Wl aifde
[Question ID = 8300]

Pranayam/qgmumen# [Option ID = 33194]

Asana/amea [Option ID = 33195]

Kriya/fe=n [Option ID = 33196]

Silence/aitar weseen [Option 1D = 33197]

kst P —

Correct Answer :-
e Asana/smaa [Option ID = 33195]

58) Which one of the following is not the proved effect of meditation

forgoiteriRaa a 3t i a1 e2mer @1 Rig yma o1t &
[Question ID = 8301]
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Decreases stress/asima @ @vzn & [Option ID = 33198]

Normalize blood pressure/ FFan @1 Jwwe @53 [Option 1D = 33199]
Normalize blood sugar/scis gz @t s @ & [Option 1D = 33200]
Increase cortisol/mii¢ser 3t gii [Option ID = 33201]

P s

Correct Answer :-
® [ncrease cortisol/mii&se ¥ gi [Option ID = 33201]

59) If the skin or a fractured bone is intact the fracture is described as

e camn a1 Afenist g33! gemr & dl Badz ol avicl e srn &

[Question ID = 8302]

1. Complicated Fracture/afee daaz[Option ID = 33202]

2. Impacted Fracture/uysnféa & aaz[Option ID = 33203]

3. Simple or Closed Fracture /s =n @ @aaz[Option 1D = 33204]
4. Compound Fracture/ g sif¥emiar [Option 1D = 33205]

Correct Answer :-
® Simple or Closed Fracture/er = de @aaz [Option 1D = 33204]

60) Libero is associated with -

fera? oo zmmer oisT B3 &

[Question ID = 8303]

1. Handball/&s=ater [Option ID = 33206]

2. Volleyball/areftarer [Option ID = 33207]

3. Basketball/ar=aearer [Option 1D = 33208]
4, Kabaddi/w@as=l [Option 1D = 33209]

Correct Answer :-
e Volleyball/arefiener [Option 1D = 33207)

61) Byes are given when the number of participating teams is not a power of

ars o4 @ s 2 s/ 9e1 dlot aredl &at &b sizeen o 9ifvs oidl 2t 2

[Question ID = 8304]

1. Four/emz [Option ID = 33210]
2. Three/dta [Option 1D = 33211]
3. Two/a [Option ID = 33212]

4. Five/ura [Option ID = 33213]

Correct Answer :-
e Two/al [Option ID = 33212]

62) The process of nourishing the body with the help of food based on some basic principles of living is referred as

sfiel @& @ glorndl Rigidl & smenz uz sl &l #ce A 9rflz o diaur Sol B yfégen @1 @ar sirar 2
[Question ID = 8305]

1. Balanced Diet/wgfert smar= [Option ID = 33214]

2. Nutrition/umm [Option 1D = 33215]

3. Supplementation/ampgau [Option 1D = 33216]

4, Diet/anarz [Option ID = 33217]

Correct Answer :-
e Nutrition/dmur [Option 1D = 33215]

63) Saturated and Un-saturated are the two forms of

urell Hqpd i1z se-Agu 31 wu &
[Question ID = 8306]

Protein/tidtar [Option 1D = 33218]
Carbohydrate/wmiasse [Option 1D = 33219]
Fat/aam [Option ID = 33220]
Minerals/zfrst uarel [Option 1D = 33221]

Lt ) =

Correct Answer :-
e Fat/aar [Option 1D = 33220]

64) A condition where the individual's lower extremity is affected is called

vas O Rerfer siai cafes &t Graell awa Ao g 8l 2 33 avar s 2
[Question ID = 8307]
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Quadriplegia/adqeieram [Option |D = 33222]
Paraplegia/sfta @ a@il a1 ugmena [Option 1D = 33223
Paralysis/ugmae [Option 1D = 33224]

Hemiplegia/ sreforema [Option ID = 33225]

P s

Correct Answer :-
@ Paraplegia/afia @ sl @51 ugirena [Option ID = 33223]

65) A neurological disorder caused by a non - progressive brain injury or malformation that occurs during the brain
development in the child is known as

v diz-gaifaefiar afiaes & ale a1 wardl & vl 8ol aren v RIdirod o sit gad Jd #afl¥ace @ o & o aiar 3

[Question ID = 8308]

1. Multiple Sclerosis/#ediua FacaiBer [Option 1D = 33226]
2. Cerebral Palsy/#f3 e ugmara [Option ID = 33227]

3. Muscular Dystrophy/siamstt gifara [Option ID = 33228]
4, Hemiplegia/zruferamer [Option 1D = 33229]

Correct Answer :-
e (erebral Palsy/afderan ugnmmer [Option ID = 33227]

66) Individuals with this type of disability find it difficult to receive information and communicate further

1 yonr &l Raeristan ardl saftpal oY stiorotdl grs aszon itz a9l dare wion Jfdaa aoran &
[Question ID = 8309]

1. Intellectual Disability/aifzm smmer [Option ID = 33230]

2. Cerebral Disability/3ga EafdRet [Option 1D = 33231]

3. Neurological Disability/@fiwor st faemern [Option 1D = 33232]

4, Muscular Dystrophy/sisnster gifara [Option 1D = 33233]

Correct Answer ;-
e |ntellectual Disability/«ifza smmen [Option 1D = 33230]

67) In one of the postural deformity, the spine curves from side to side

direyze R 3 fig v @b gasar A s B B
[Question ID = 8310]

. Scoliosis/urdgqesin [Option 1D = 33234]

. Kyphosis/m@earen [Option 1D = 33235]

Lordosis/ sermesren [Option ID = 33236]

Flat Foot/=mwe itz [Option 1D = 33237

o bl B —

Correct Answer :-
o Scoliosis/urdgeswn [Option 1D = 33234]

68) An eating disorder that is characterized by self-induced starvation and significant weight loss is referred as

e x@0 [freor B ra-giva yaadt & Rovaan # siie sscagel aser gcrol o wu i dchifa v siren 8

[Question ID = 8311]

1. Bulimia Nervosa/gfetfiren omtan [Option ID = 33238]

2. Anorexia Mervosa/uvateerEn arfzn [Option 1D = 33239]

3. Osteoporosis/ e [Option ID = 33240]

4, Menstrual Dysfunction/anf3rn e &t faféerm [Option 1D = 33241]

Correct Answer ;-
e Anorexia Nervosa/waifiern ardtzn [Option ID = 33239

69) A fracture where the bone breaks into multiple fragments which are driven into each other is

o Baarsrst 5581 ©F st 3 oo ol 3 off v gk 3 AT Al @
[Question ID = 8312]

1. Impacted Fracture/ysnféer & aaz[Option ID = 33242]

2. Stress Fracture/doma wiaaz[Option ID = 33243]

3. Green 5Stick Fracture/sfta Bew dwamz[Option D = 33244]

4. Transverse Fracture/smze waaz[Option |D = 33245]

Correct Answer :-
e |mpacted Fracture/gsufoer waaz[Option 1D = 33242]

70) Acceleration runs are helpful in the development of

VT Jol @ fAmRT 3 JHERED 8ld &
[Question ID = 8313]
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Coordinative Ability/smeaeras gwen [Option ID = 33246]
Speed/adtz [Option ID = 33247]

Endurance/¢izar [Option ID = 33248]

Muscular Speed/mmifgrd @51 sier [Option 1D = 33249]

P s

Correct Answer :-
e Speed/=dls [Option ID = 33247]

71) Two blocks of wood measuring 2x2x4 inches are required for which one of the test?

2x2x4 Fa Aol dIcl b3l @ ol ooid ead oo amasas 87

[Question ID = 8314]

40 Yards Shuttle Run/40 s sieer 361 [Option ID = 33250]
Harvard Step Test/ardg s2u &3¢ [Option ID = 33251]

. 50m Dash/50 3itez 31 [Option ID = 33252]

.1 Mile Rockport Test/1 amzer Fiadid 3¢ [Option 1D = 33253]

o bt P —

Correct Answer :-
® 40 Yards Shuttle Run/40 w1 gizetr 3a1 [Option ID = 33250]

72) The height of the bench in the Harvard Step Test for men is

g&dl @ e erds ¥eu ¢ve 3 da &l mar 8
[Question ID = 8315]

1. 18 inches/18 sa [Option ID = 33254]

2. 12 inches/12 sa [Option ID = 33255]

3. 20 inches/20 za [Option ID = 33256]

4. 14 inches/14 sa [Option ID = 33257]

Correct Answer :-
e 20 inches/20 sa [Option ID = 33256]

73) Fast twitch Fiber is suited for events predominated by

wize Raa wsar gdadl acomii @& o smma 8
[Question ID = 8316]

1. Endurance/d« [Option ID = 33258]

2. Speed/atfr [Option ID = 33259]

3. Flexibility/erdtemms [Option 1D = 33260]

4. Balance/sigera [Option ID = 33261)

Correct Answer :-
e Speed/=ifa [Option ID = 33259]

74) The lateral pressure exerted by the blood on the walls of the arteries is called

eraforil &t Elarl uz 775 Zrr cenw a1 urd gaa o aer S 8
[Question ID = 8317]

1. Stroke Volume/amme o5t sy [Option 1D = 33262]

2. Blood Pressure/sts ama [Option ID = 33263]

3. Heart Rate/sgea aifitr [Option 1D = 33264)

4, Cardiac OQutput/eceh faetar [Option ID = 33265]

Correct Answer :-
e Blood Pressure/ss aa [Option ID = 33263

75) A disruption of the fibre of a muscle or tendon is referred as

uds AiHA9 a1 @vsI @ Wwisdz @ e @ wu 3 Sl Sien 2

[Question ID = 8318]

Sprain/ate [Option ID = 33266]
Strain/mema [Option ID = 33267
Dislocation/ sreerrzen [Option 1D = 33268]
Fracture/af¥emisn [Option 1D = 33269]

Lt ) =

Correct Answer :-
e Strain/eema [Option ID = 33267]

76) The binding of the joints in order to reduce the angle between the two bones is referred as

a1 al3sal & dia @& @1 @l o ©el D 1o SiIS] @) giticn dar i 2
[Question ID = 8319]
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Extension/uweradurm [Option 1D = 33270]
Flexion/#lr= [Option ID = 33271]
Abduction/amegzur [Option ID = 33272]
Adduction/ atfirreda [Option ID = 33273]

P s

Correct Answer :-
e Flexion/atz [Option 1D = 33271]

77) Movement that occurs towards the medial plane is referred as

e ot bt 31z glot ardl 3iiera ool & Jadic @I ®ar o &

[Question ID = 8320]

1. Flexion/3lrz [Option |D = 33274]

2. Adduction/aifdseclsr [Option ID = 33275]
3. Extension/uaadera [Option ID = 33276]
4. Abduction/ygrer [Option ID = 33277]

Correct Answer :-
e Adduction/afimda [Option ID = 33275]

78) The resistance to motion of two moving objects or surfaces that touch is called

Fuef @zl arcll g1 Tl azq3il a1 wAael &l sifer @ YerRIer @f ool S &

[Question ID = 8321]

1. Flexion/ais [Option ID = 33278]

2. Projectile/ygier [Option 1D = 33279]

3. Friction/ewama [Option 1D = 33280]

4. Extension/werzdgra [Option ID = 33281]

Correct Answer :-
® Friction/ewsaa [Option 1D = 33280]

79) The 16 Personality Factor Personality Inventory was developed by

16 waltbra @™ altbrd sodcil G el e srm e
[Question ID = 8322]

1. Hans Eysenck/&s ansders [Option 1D = 33282]

2. Gordon Allport/sitder affenitd [Option ID = 33283]

3. Raymond B. Catell/3siz a3 [Option |D = 33284]

4. James Cramer /3w ai#2[Option ID = 33285]

Correct Answer :-
e Raymond B. Catell/¥i= d@eer [Option ID = 33284]

80) A lack of purpose and intentionally in one’s action, that is the relative absence of motivation is referred as

329 &l wall 3z sorgsrr: Rl &t odar 3, Jzon & seuiafa & wa i HAchia Rew sar 2
[Question ID = 8323]

1. Intrinsic Motivation/amaf¥as gzom [Option 1D = 33286]

2. Extrinsic Motivation/as3 gaun [Option ID = 33287]

3. Amotivation/vas gaun [Option 1D = 33288]

4, Passion/ggme [Option 1D = 33289]

Correct Answer :-
e Amotivation/ums daun [Option ID = 33288]

81) The standard distance for marathon race is :

drarerel Sis @ fore o ¢t 2:

[Question ID = 8324]

26 km/26 fret [Option ID = 33290]

42 km/42 et [Option ID = 33291]

. 42.195 km/42.195 fassft [Option ID = 33292]
. 42,125 km/42.125 fistt [Option ID = 33293]

Lt ) =

Correct Answer :-
® 47,195 km/42.195 fastt [Option ID = 33292]

82) Indian Foot Ball team’s first appearance in Olympics was

izl we dicr &a & siciftie 3 uaell sufFafe:

[Question ID = 8325]
1. 1936 [Option ID = 33294]
2. 1948 [Option ID = 33295]
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3. 1952 [Option ID = 33296]
4. 1956 [Option ID = 33297]

Correct Answer :-
e 1948 [Option ID = 33295]

83) Who among one of the following official controls a Foot Ball match?

e dicl Ja @l orife ol ar afirer 3 3 oo
[Question ID = 8326]

1. A referee/va 3wt [Option ID = 33298]

2. An Umpire/um sz [Option ID = 33299]

3. A line man/um ensat a1 [Option ID = 33300]

4, Score Keeper/ sz dhluz [Option ID = 33301]

Correct Answer :-
e A referee/uvs 3wdt [Option |D = 33298]

84) Fatigue is the result of accumulation of

erepTol @1 ufyoran 3:

[Question ID = 8327]

1. Sulphuric Acid/srewegiyas uidrs [Option ID = 33302]
2. Lactic acid/dfaea awer [Option ID = 33303]

3. Acetic acid/vf¥féow awer [Option ID = 33304]

4, Lactose/dacts [Option 1D = 33305]

Correct Answer :-
e |actic acid/dfres awer [Option 1D = 33303)

85) Psychology means

Freiiferset @1 arel 2

[Question ID = 8328]

1. Study of mental disorders/smiEnr frmEt an s [Option 1D = 33306]
2. Study of behavior/=mear @ arzrrer [Option 1D = 33307]

3. Study of sports person/¥a cifts an aerra [Option 1D = 33308]

4, Study of society/smma @1 areereral [Option 1D = 33309]

Correct Answer :-
e Study of behavior/sma: o1 seerrs [Option 1D = 33307]

86) The rich source of protein is

Qclor @1 HPg Hiea &

[Question ID = 8329]

Green Leafy vegetables/&dt urlar aféswi [Option ID = 33310]
Wheat /3% [Option ID = 33311]

Butter/#wram [Option ID = 33312]

. Soyabean/semdtar [Option 1D = 33313]

da bad B —

Correct Answer :-
® Soyabean/srendla [Option 1D = 33313]

87) Matsyendrasana is also called

AeRogrrel it aer siren 8:

[Question ID = 8330]

1. Lord of the Fishes Pose/amicrt o1 swrmarst #igg [Option 1D = 33314]
2. Cobra pose/mtaz #gg [Option 1D = 33315]

3. Dog Pose/Si=r i [Option ID = 33316]

4. Tree Pose/¢t st [Option ID = 33317]

Correct Answer ;-
o Lord of the Fishes Pose/#smférl as serarer sgr [Option 1D = 33314]

88) Which of the following asana can be performed after meal is

silstol @ arc forrar 3 A @ofel 31 3nyer Rsen s Jasarn &:

[Question ID = 8331]

1. Tadasan/asmE [Option D = 33318]

2. Bhujangasan/ssmsmr [Option ID = 33319]
3. Vajrasan/agem [Option 1D = 33320]

4, Gomukhasan/si#zmzer [Option ID = 33321]
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Correct Answer ;-
e Vajrasan/agem [Option 1D = 33320]

89) Reaction time & frequency of movement per unit time are the elements of

gferfagen s stz omdiifyas fgzn &) srgfer gfer s soord @ aea &
[Question ID = 8332]

Speed/wdtz [Option ID = 33322]

Strength/gfes [Option 1D = 33323]

Flexibility/e=fiemaa [Option |D = 33324]

. Endurance/diz= [Option 1D = 33325]

o bd

Correct Answer :-
e Speed/=dts [Option ID = 33322]

90) When two objects are not moving relative to each other a force opposes or resists the lateral movement of the object.

This force is called

3 ©f aifeoiae Um g} @& FTAST SIfceat oiél 2l 2, dl acl asq @ ured JMicicrel o f&Rier I giRRer o 8 53 ad ©f el AR &

[Question ID = 8333]

. Static Friction/sdférs b [Option 1D = 33326]
Rolling Friction/ai&e adv [Option 1D = 33327]

. Sliding Friction/anit axm [Option ID = 33328]
Kinetic Friction/asisalfeas aror [Option ID = 33329]

bt ) =

Correct Answer :-
e Static Friction/s@iféres axfor [Option ID = 33326]

91) Which of the following is not the instrument to measure the Personality of athletes?

verellel &6l caftpra @) amuel @ fere BrsifeiBaa A A @ior 311 Juaszor o181 87

[Question ID = 8334]

1. MMPI [Option ID = 33330]

2. Big Five inventory/a#l uia sadcdt [Option ID = 33331]
3. 16 PF Inventory/16 divw ssdc# [Option 1D = 33332]
4, SCAT/ua it w ¢t [Option ID = 33333]

Correct Answer :-
o SCAT/ua it o & [Option ID = 33333]

92) The volume of the sports training may not incorporate.

e yfdrgor & sy BreeiferRaa 3 onfier oidl &1 wasedt &:

[Question ID = 8335]

1. Duration of training/yfsismr o3 amafér [Option 1D = 33334]
2. Distance covered/gdt e o5t s [Option ID = 33335]

3. Diet/smar [Option ID = 33336]

4, Weight lifted/s2 3orn aren [Option 1D = 33337]

Correct Answer :-
e Diet/amar [Option ID = 33336]

93) The weight of the medicine ball in Barrow three item general motor ability test is

a3 2f} arrsea Ao Hie? graan udlegvl H an 3G @l asiol &
[Question ID = 8336]

1. 1.5 kg/1.5 fpap [Option ID = 33338]

2. 2.0 kg/2.0 fpap [Option ID = 33339]

3. 2.5 kg/2.5 Rvap [Option ID = 33340]

4, 3.0 kg/3.0 fsyp [Option ID = 33341]

Correct Answer :-
e 3.0 kg/3.0 fasop [Option 1D = 33341]

94) In volley ball, The playing court is a rectangle measuring

diclt diar A, ¢ wIEa1 @I v IRAGIE AT &
[Question ID = 8337]

1. 20 x 9 m/20 x 9 afies [Option 1D = 33342]

2. 18 x 9 m/18 x 9 #t [Option ID = 33343]

3. 18 x 10 m/18 x 10 #itcz [Option ID = 33344]
4, 20 x 10 m/20 x 10 #itez [Option ID = 33345]
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Correct Answer :-
e 18x9m/18 x 94t [Option ID = 33343]

95) In hand ball, a 9-metre line broken line, drawn 3 meters outside the goal-area line is called

g1 @ 9l 3, v 9-aflcr ensar ¢t §F Y, cigA-8iq Y @ arse 3 HAler B sedt @
[Question ID = 8338]

1. Restraining line /R cmsar [Option ID = 33346]

2. Foul line/wr=er em=ar [Option 1D = 33347

3. Goal area line /e g ¥zm [Option |D = 33348]

4. Free throw line/u} &} emgar [Option ID = 33349]

Correct Answer ;-
® Free throw line/uit & engar [Option ID = 33349]

96) In Kabaddi, one point scored, if player cross the line in court known as

waszst A, U 3w FoR [ srar E, 3R Raarst ®a @ dcre # arsa o uR @2 S @
[Question ID = 8339]

Half line/aneht emsar [Option ID = 33350]

Baulk line/dice et [Option 1D = 33351]

Mid line /aeer 3= [Option ID = 33352)

Bonus line /e enzat [Option 1D = 33353]

kst P —

Correct Answer :-
e Baulk line/diras enser [Option ID = 33351]

97) What is the weight of a Table Tennis ball?

eac cforat 3ic w1 astol aen &
[Question ID = 8340]

1. 2.9 grams/2.9 agm [Option 1D = 33354]
2. 2.7 grams/2.7 sgw [Option ID = 33355]
3. 2.6 grams /2.6 aj=1 [Option ID = 33356]
4, 2.5 grams /2.5 smar [Option ID = 33357]

Correct Answer :-
e 7.9 grams/2.9 smx [Option ID = 33354]

98) Between the sexes, for same amount of muscles, there are

=it @ dler, Fomer Ay A AAdRT & fo;

[Question ID = 8341]
1. No differences in strength/amm & o e ot

[Option ID = 33358]
2. Differences in strength/offs f armz

[Option ID = 33359]
3. More strength in males/ysul & aiféas cmasa

[Option ID = 33360]
4. More strength in females/sfZemail i affre Aroa

[Option ID = 33361]

Correct Answer :-
e No differences in strength /e 3 @i aite sidf

[Option ID = 33358]

99) The amount of air that can be expelled after maximal inspiration is called

fersas YU @ Siol @ arg as: el arell sar &t sy @1 @ar sir &
[Question ID = 8342]

1. Lung volume/ww3 ot smp [Option 1D = 33362]

2. Respiratory rate/=asm <z [Option ID = 33363]

3. Residual volume/amafdre wrey [Option ID = 33364]

4. Vital capacity/#izraguf smen [Option |D = 33365]

Correct Answer :-
e Vital capacity/wacayvf smier [Option ID = 33365]
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100) Rohan Bopanna belongs to which sports
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[Question ID = 8343]

1. Tennis/2faer [Option 1D = 33366]

2. Badminton/#sfca [Option ID = 33367
3. Athletics/vetféax [Option ID = 33368]
4, Shooting/gif¢s [Option 1D = 33369]

Correct Answer :-
e Tennis/2for [Option ID = 33366]
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